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32| 25xcSsty 6.5 0.9 0.0 0.0 2.3 ==
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AEEES 8.3 1.4 0.0 0.0 3.7 =4z
35| AEHESstw 9.0 1.3 0.0 0.0 3.9 CFZES
36| AstESstn 8.3 1.3 0.0 0.0 2.4 ==
37| ¥xE=Ssw 8.2 1.3 0.0 0.0 2.6 =EA=
38| CHAESEW 9.0 1.5 0.0 0.0 3.3 =4z
39| FHESEW 9.7 1.8 0.0 0.0 3.3 =4z
40| #¥x=Ssw 24.2 1.3 0.0 0.0 2.6 EAHE
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43| HstxsSsn 19.7 1.5 0.0 0.0 41 EFZES
44| HEXSstW 15.3 1.6 0.0 0.0 2.6 EFZES
45| SHMxESsD 11.8 1.6 0.0 0.0 3.4 CFZES
46| HIxSsn 16.0 1.2 0.0 0.0 2.0 EFZES
F|CH gk 24.5 1.8 0.8 0.1 9.5
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SEerEE JlE ol EHEEE 0.1 % 0|3t
1 orztx S8ty 7.2 0.5 0.9 0.3 8.9 0.0009
2 eHMESEL 8.2 1.2 0.3 11 10.8 0.0011
3 2EHESsL 0.1 0.6 0.1 0.0 0.8 0.0001
4 FlEESS-m] 194.7 0.5 0.3 2.8 198.3 0.0198
5| sY4EYxSstn 52.6 2.0 0.0 0.0 54.6 0.0055
Z|CH 3L 194.7 2.0 0.9 2.8 198.3 0.0198
E= PN 0.1 0.5 0.0 0.0 0.8 0.0001
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gt el JIE 200 ofst 4 0|5t 4 0|5t 5 0I5t 25 0[5t =dE
1 HeEl S 37.9 1.8 0.0 0.3 4.2 =48
2 | 22E5=M3SH 43.7 1.1 0.0 0.0 6.8 =4
3 At et S H 34.5 2.0 0.0 0.0 4.0 =48
4 UneE= 57.0 1.5 0.0 0.0 3.6 =45
5 JESH 38.0 1.7 0.0 0.0 4.2 Rk
6 TEEESH 10.3 1.1 0.0 0.0 2.0 48
7 MESE 14.9 1.7 0.0 0.0 4.7 =45
8 M S SH 221 1.6 0.0 0.0 3.6 =4
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SEeNEE J[E ol EHFEEE 0.1 % 0|5t
1 gt S 4.0 0.1 0.0 0.0 41 0.0004
2 =2MSH 4.9 0.2 0.0 0.0 5.1 0.0005
3 =53¥ 3.6 0.0 0.0 0.0 3.6 0.0004
4 He2E3s¥ 17.6 1.9 0.0 0.0 19.5 0.0020
5 FHASHE 10.5 1.5 0.0 0.0 12.0 0.0012
6 SPNEC L 7.7 0.2 0.0 0.0 7.9 0.0008
7 ST SH 4.3 0.3 0.0 0.0 4.6 0.0005
8 s sH 16.1 0.6 0.0 0.0 16.7 0.0017
9 oA S 3 1759.7 1.4 0.0 46.3 1807.4 0.1807
10 2T 3 14.9 0.4 0.0 0.0 15.3 0.0015
ESJu Ay 1759.7 1.9 0.0 46.3 1807.4 0.1807
E| A gt 3.6 0.0 0.0 0.0 3.6 0.0004
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